Strict Evaluation

Time limit: 0.5s  Memory limit: 256M

You have an array of N (1 < N < 100000) elements, indexed from 1 to N. There are @ (1 < @ < 100 000)
operations you need to perform on it.

Each operation is one of the following:

* 11 r v Incrementeach value in the range [l, r| by v.
* 21 r v Make each value in the range [l, 7] equal to v (i.e. for each element a;, such thatl < ¢ < 7, set a; := v).

* 31 r Output the minimum value in the range [I, r].

In operations |1 and 2 , v is guaranteed to be an integer in the range [1, 100 000]. Every value in the starting array is

also guaranteed to be in this range.

Input Specification

The first line has N and Q.

The second line has N integers, the original array.

The next @ lines each contain an operation in the format described above.
Output Specification

For each operation of type ' 3 , output the answer on its own line.

Sample Input

53
12345
324
2 2410
325

Sample Output
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